fETIER L=180m
HET]T 912, 78m2

om K S

600

EIMEE W=2.85m~7.30m

BT 1

T % tE B B s-1/100

6000

3000

3000

AT T

BRYE : ¢ =250mn

1 HET

®E | WEDREFHET 23> (20)
2y 9 23— hPK-4 t= 50mm

AE REIREMETRaY (20)
754 Lsa— +PK-3 t= 70mm

LB . BAEREARE t= 250mm

0S¢ 0L0S
|

ﬁ I *ﬁ = . S=free
6000
3000 3000
—E
HET
=E REDRFHET7Ra> (20)
2 w4 33— kPK-4 t= 50mm

AT T

SEIEUETEER - t=120mn

BRIE : t=250mm

HEE HETRMEMNETRaY (20
754 La— bPK-3 t= 70mm

LERE . BERFERE t= 250mm

IE4 THE1-1797-2848 (KFEWMHN) SHEITRITE
B®% R4 HE1-1797-284

TEERT ERAET K Nt N

X m % TEEK - ZEEE - HETHEER

# Rl 1:60 |mmEs| 1~

ERAETT IR R AR MEFF A RER




